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Time alloved 75 minules

Calculalors MAY NOT Le used.
Show your working as there may be marks glven lor working out,

There aro 17 quoestions on the paper If you connot answer a question, leave it nnd
0o on lo the pext question,
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Year 8 Non-Caic

Expand and simplify where possible.
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A Wiite down the Fiest 4 mullipies of 14
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b. Find the towest common multiple of 6 and 14
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Year 8 Nan-Calc Year 8 Non-Cale

3. Simplify the following
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6. Calculate the value of the following expressions when
a Inthe diagram below, write down the equation of the line that

rollects shape Conte shape O / and b=-3 c=05 0 l\
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b, Write 450 as o product of Ity prime factors
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Calculate the value of Dwhen p=-2, 6 = 3 te§
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9 6scrabble lettars A, B, C 0, Eand Fare placed |n 2 bag and one tile s picked

at randem,
Fintl the probability of:
A plckinga D

b. pojpickinga D

o picking a vowol 1
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o pot picking o vowel
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Year 8 Non-Calc
10, Enlarge shape ¥ by scale factar 3 centre (1,2)
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1L Find the scale factor and mark on the diagram the contre of enlargomont,
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Scale factor = 12
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12
3. List the factors of 36.

1,2,24,6,9,12, 18,36
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b Write down all the prime numbers between 20 and 30.

23 29

(2]
13 Calculate. Shaw all steps in your waorking
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Yeor 8 Non-Cale
14, Describe the Rotation from shape P 1o shape O and mark an the diagram 1he
centre of rotation with a cross,
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a4, Rotate Shape X 180" about the orlgin. Label your new shape V.
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b. Rotate shape ¥ 90° Antl-clockwise aiout the polnt {2, -6)
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16. Solve the following equatians
n Sx=10
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Yeur 8 Non-Cule

17. The 1able below shows the value of saloon cars compared to thelr sges.

Ape 5
(years)
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Vilue £ 5,000 | 9000 | 1,000 | 12,000 | 7000 | 5000 | 7,000 | 2,500 | 500

a. 0ntnhe axes below plot the scattergraph of the data
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b Comment upon the correlztion of the data
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¢ Draw a line of best fit (1)






